

$$1) \begin{pmatrix} x, f(x) \\ y, f(y) \end{pmatrix}$$

$$x \cdot f(y) + y \cdot f(x) = f(xy) \quad x > 0$$

$$\frac{f(y)}{y} + \frac{f(x)}{x} = \frac{f(xy)}{xy} \quad \left| \cdot xy \cdot \frac{1}{\ln y} \cdot \frac{1}{\ln x} \right|$$

$$\frac{f(y)}{y} = \frac{f(xy)}{xy} - \frac{f(x)}{x} = \frac{f(xy)}{xy} - \frac{f(xy)}{xy} \ln xy = -\frac{f(xy)}{xy} \ln xy$$

$$g(x) = C \cdot \ln x \Rightarrow C \cdot x \cdot \ln x = f(x)$$

$$2) \forall x > 0 \quad f\left(\frac{x}{2}\right) = x \cdot f(x)$$

$$f(x) \equiv \text{const } C \quad C = Cx \Leftrightarrow C=0$$

$$\forall x > 0 \quad f(x) > 0 \quad \left[f_1(x) \equiv 0 \right]$$

$$f(x) = y \Rightarrow \frac{f(y)}{y} = \frac{x \cdot y}{y} = x$$

$$\frac{f\left(\frac{f(y)}{y}\right)}{\frac{f(y)}{y}} = \frac{f(xy)}{xy}$$

$$\frac{f\left(\frac{f(y)}{y}\right)}{f(y)} = \frac{f(xy)}{xy} = \frac{f(xy)}{f(y)} \cdot \frac{f(y)}{xy}$$

$$\downarrow$$

$$f(xy) = f(x) \cdot f(y)$$

$$\frac{f(x)}{x} = x^a$$

$$f\left(\frac{f(x)}{x}\right) = (x^a)^a = x^{a^2} = x \cdot \frac{f(x)}{x} = x \cdot x^a$$

$$x^{a^2} = x^{a+1}, \quad \forall x > 0$$

$$a^2 = a+1 \Rightarrow a^2 - a - 1 = 0$$

$$D = 5 \quad \frac{1 \pm \sqrt{5}}{2} \quad a_{1,2} = \frac{1 \pm \sqrt{5}}{2}$$

$$\frac{f_1(x)}{x} = x^{\frac{1+\sqrt{5}}{2}}$$

$$\frac{f_2(x)}{x} = x^{\frac{1-\sqrt{5}}{2}}$$

$$3) \mathbb{R} \quad \forall x, y \in \mathbb{R}$$

$$\frac{f(x)}{x} \cdot \frac{f(y)}{y} = \frac{f(xy)}{xy} + 1$$

$$x=y=0 \Rightarrow \frac{f(0)}{0} \cdot \frac{f(0)}{0} = 1$$

$$x=1, y=1 \Rightarrow \frac{f(1)}{1} \cdot \frac{f(1)}{1} = 1$$

$$x=0, y=-1 \Rightarrow \frac{f(0)}{0} \cdot \frac{f(-1)}{-1} = 0$$

$$\frac{f}{x} \cdot \frac{f}{y}$$

$$4) \frac{f(x+y)}{x+y} = \frac{f(x)}{x} \cdot e^y$$

$$x=0 \Rightarrow \frac{f(y)}{y} = \frac{f(0)}{0} e^y = a \cdot e^y$$

$$\text{Допол: } a e^{x+y} = a e^x \cdot e^y$$

$$\frac{f(x)}{x} = a \cdot e^x$$

$$5) \frac{f(x+y)}{x+y} + \frac{f(x-y)}{x-y} - \frac{f(x)}{x} = x^2 - 6xy \sqrt{\frac{f(y)}{y}} = 0$$

$$y=0 \Rightarrow \frac{f(x)}{x} - x^3 = 0$$

$$\frac{f(x)}{x} = x^3$$

$$6) f: \mathbb{R} \rightarrow \mathbb{R}$$

$$x \cdot f(y) + y \cdot f(x) = (x+y) \cdot f(x) \cdot f(y)$$

$$x=y=1: \quad \frac{f(1)}{1} = \frac{f^2(1)}{1} \quad \frac{f^2(1)}{1} = \frac{f(1)}{1}$$

$$\frac{f(1)}{1} = 0 \quad \frac{f(1)}{1} = 1$$

$$I. \frac{f(1)}{1} = 0: \quad y=1 \Rightarrow x \cdot \frac{f(1)}{1} + 1 \cdot \frac{f(x)}{x} = (x+1) \cdot \frac{f(x)}{x} \cdot \frac{f(1)}{1}$$

$$II. \frac{f(1)}{1} = 1: \quad y=1 \Rightarrow \frac{f_1(x)}{x} = 0$$

$$\frac{x + \frac{f(x)}{x}}{x + \frac{f(x)}{x}} = \frac{(x+1) \cdot \frac{f(x)}{x}}{x + \frac{f(x)}{x}}$$

$$x \neq 0 \quad 1 = \frac{f(x)}{x}$$

$$\frac{f_2(x)}{x} = \begin{cases} 1, & x \neq 0 \\ a, & x = 0 \end{cases}$$

$$\text{Дополнения: } \begin{matrix} x \neq 0 & x+y = x+y \\ x=0 & 0 \cdot a + 0 \cdot a = 0 \cdot a^2 \end{matrix}$$

$$I. \quad \frac{f(\varphi(x))}{\varphi(x)} = F(x) \quad \varphi, F - \text{бигами}$$

$$\text{депо} \quad \varphi = \varphi(x) - \text{замени}$$

$$\exists x = \varphi^{-1}(y)$$

$$\frac{f(y)}{y} = F(\varphi^{-1}(y))$$

$$\frac{f\left(\frac{x}{x+1}\right)}{\frac{x}{x+1}} = x^2$$

$$\varphi(x) = \frac{x}{x+1} \quad D(\varphi) = (-\infty; -1) \cup (-1; +\infty)$$

$$\frac{x}{x+1} = y \Rightarrow x = yx + y$$

$$x(1-y) = y \Rightarrow x = \frac{y}{1-y}$$

$$D(\varphi^{-1}) = (-\infty; 1) \cup (1; +\infty)$$

$$\frac{f(y)}{y} = \left(\frac{y}{1-y}\right)^2 \Rightarrow \frac{f(x)}{x} = \left(\frac{x}{1-x}\right)^2$$

$$\text{на } (-\infty; 1) \cup (1; +\infty)$$

$$\text{Дополнения: } \frac{f\left(\frac{x}{x+1}\right)}{\frac{x}{x+1}} = \left(\frac{\frac{x}{x+1}}{1 - \frac{x}{x+1}}\right)^2 =$$

$$= \left(\frac{\frac{x}{x+1}}{\frac{x+1-x}{x+1}}\right)^2 = x^2$$

$$II. \quad a(x) \cdot \frac{f(\varphi(x))}{\varphi(x)} + b(x) \cdot \frac{f(x)}{x} = F(x)$$

$$a(x), b(x), F(x), \varphi(x) - \text{бигами}$$

$$\exists \text{ деп. } \varphi, \varphi(x) \quad x = \varphi^{-1}(y)$$

$$\varphi^{-1}(x) = \varphi(x) \quad \frac{1}{x}$$

$$\frac{f(\varphi(x))}{\varphi(x)} = x$$

$$x \rightarrow \varphi(x) \neq 0:$$

$$a) a(\varphi(x)) \cdot \frac{f(x)}{x} + b(\varphi(x)) \cdot \frac{f(\varphi(x))}{\varphi(x)} = F(\varphi(x))$$

$$\text{Доп. } x \neq 0$$

$$\frac{f(x)}{x} - 2f\left(\frac{1}{x}\right) = x^2$$

$$y = \frac{1}{x} \Rightarrow x = \frac{1}{y} = \varphi^{-1}(y)$$

$$\varphi^{-1}(x) = \frac{1}{x}$$

$$x \rightarrow \frac{1}{x} \quad \left\{ \begin{matrix} \frac{f(x)}{x} - 2f\left(\frac{1}{x}\right) = x^2 \\ \frac{f\left(\frac{1}{x}\right)}{\frac{1}{x}} - 2f(x) = \frac{1}{x^2} \end{matrix} \right. \quad \text{⊕}$$

$$\frac{f(x)}{x} - 2f\left(\frac{1}{x}\right) = x^2$$

$$-3f(x) = 2 \cdot 2^{\frac{1}{x}} + 2^x$$

$$\frac{f(x)}{x} = \frac{2^x + 2^{1+\frac{1}{x}}}{3}$$

$$\text{Дополнения}$$